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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two
sentences.       (1x10=10)

ç'u 1- izfr;ksxh cktkj vFkZO;oLFkk D;k gS\

What is competitive market economy?

ç'u 2- iw.kZr;k ykspnkj ekax D;k gS\

What is perfectly elastic demand?

ç'u 3- mRifÙk gkzl fu;e ykxw gksus dk eq[; dkj.k crkb,A
Give main cause of law of  Diminishing Returns.

ç'u 4- iSekus ds izfrQy dk laca/k fdl dky ls gS\

Which term is related to  Returns to Scale?

ç'u 5- lhekar ykxr ls D;k vk'k; gS\

What do you understand by marginal cost?
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ç'u 2- mRifŸk gzkl fu;e dks js[kkfp= }kjk le>kb,A bldh fØ;k'khyrk dks dSls
jksdk tk ldrk gS\
Explain with the help of  diagram the law of diminishing returns. How can
its operation be checked?

OR

lemRikn js[kkvksa dh ifjHkk"kk nhft,A ;s rVLFkrk oØ js[kkvksa ls fdl
izdkj fHkUu gksrh gSa\
Define Equal-product curves. How do they differ from Indifference
curves?

ç'u 3- ÞD;k QeZ lnSo ykHk gh vf/kdre djuk pkgrh gS\ß Li"V dhft,A
"Does firm always want to maximise its profit?" Explain it.

OR

Hksniw.kZ vFkok foHksnkRed ,dkf/kdkj D;k gS\ blds varxZr ewY; dSls
fu/kkZfjr fd;k tkrk gS\ le>kb,A
What is discriminating monopoly? How is price determined under it?
Explain.

ç'u 4- ewY; usr`Ro ds D;k dkj.k gSa\ ,d izHkko'khy ewY; usr`Ro dhs vko';d 'krkZsa
dk laf{kIr o.kZu dhft,A
What are the causes of price leadership? Describe briefly the necessary
condition for effetive price leadership.

OR

,dkf/kdkjkRed izfr;ksfxrk ds vUrxZr ewY; mRiknu uhfr dh ppkZ dhft,A
Discuss the price-output policy under monopolistic competition.

ç'u 5- Þ;fn etnwjh dk fu/kkZj.k Je dh lhekar mRIkkndrk }kjk gksrk gS rks Jfed
la?k vko';d ugha gSaAß bl dFku dh vkykspukred O;k[;k dhft,A
"If the wages are determined by the marginal productivity theory of labour
then unions are useless." Critically examine this statement.

OR

ÞykHk vfuf'prrk ogu djus dk iqjLdkj gSAß le>kb,A
"Profit is payment for uncertainty bearing". Discuss.
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ç'u 6- {ks= ds vuqlkj cktkj dk oxhZdj.k crkb,A

Give the classification of market according to the area.

ç'u 7- viw.kZ izfr;ksfxrk dk vFkZ crkb,A

Give meaning of  Imperfect competition.

ç'u 8- lhekar dher mit x.kuk gsrq lgh lw= fyf[k,A

Write correct formula for marginal price product.

ç'u 9- okLrfod etnwjh ds fu/kkZjd rRo dkSu-dkSu gSa\

Which are the determinants of  real wages?

ç'u 10-dhUl dk C;kt fl)kar D;k gS\

What is the Keynes theory of  Interest?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (5x5=25)

ç'u 1- vFkZO;oLFkk dh vk/kkjHkwr leL;k,a D;k gSa\ foospuk dhft,A

What are the basic problems of an Economy? Discuss.

OR

lk/ku vkcaVu esa dher iz.kkyh dh Hkwfedk crkb,A

Write the role of price mechanism in resource allocation.

ç'u 2- vYidkyhu ,oa nh?kZdkyhu mRiknu Qyu esa varj Li"V dhft,A

Distinguish between short and long period production function.

OR

leksRikn js[kkvksa dh fo'ks"krk,¡ crkb,A

Explain characteristics of  Iso-product curves.

ç'u 3- lhekUr ykxr js[kk] vkSlr ykxr js[kk dks blds U;wure fcanq ij D;ksa
dkVrh gS\ le>kb,A

Why does the marginal cost curve cut the average cost curve at its lowest
point? Explain.

OR

,d QeZ vf/kdre ykHk fdl izdkj dekrh gS\ le>kb,A

In which ways does a firm earn maximum profit? Explain.

ç'u 4- vYikf/kdkj dh eq[; fo'ks"krkvksa vkSj izdkj dk mYys[k dhft,A

Mention the chief features and types of Oligopoly.

OR

viw.kZ izfr;ksfxrk rFkk ,dkf/kdkj izfr;ksfxrk esa varj crkb,A

Distinguish between imperfect competition and monopolistic competition.

ç'u 5- lkewfgd lkSnsckth ls D;k vfHkizk; gS\ lkewfgd lkSnsckth etnwjh ds
fu/kkZj.k dks fdl izdkj izHkkfor djrh gS\

What is Collective Bargaining? How does collective bargaining influence
the determination of wage?

OR

C;kt ds vk/kqfud fl)kar dh foospuk dhft,A

Discuss the modern theory of Interest.

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (8x5=40)

ç'u 1- ekax dh ewY; lkis{krk ls D;k rkRi;Z gS\ bldks izHkkfor djus okys rRoksa dk
o.kZu dhft,A

What do you mean by elasticity of demand? Describe the factors
affecting it .

OR

dher ra= ls D;k vk'k; gS\ dher ra= dh lQyrk dh 'krkZsa dks le>kb,A

What do you mean by price mechanism? Explain the conditions for
successful working of price mechanism.
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